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�������� !�"�# ��	 $%�#��&�'�'�(	 )���), *!$+�&$�(	'$�
!�"�,	&�'��'-.	 $��/�0	 )$%��1	  �#!���&1	 #��$2	 �	 �$%'-.

3�	 #�����.�/��	 $��/�0	 $%��$	 )$%��	 +������� !$1	 $%�+�43�

3-1	 $/�'�+�433-	*� �0�5	��3�21	 0-#� �	 ��$ ���''�#3��

#�*'-�	�'��'#�0'�#�6	 � �$# �	  �/3!� #�0	 #	 ��$+�'�$/�

7��+�	 �(&$1	 ��#4�#�0��	 0 *�!68�'#�0�	 #!4"$�0	 #�43�'"$�

��+�	  �/3!� #��*�$%�0$'�(1	 7 #��$+��4�/�#�6	  �/3!� �

#�01	 0-#� $(	  �'��$#�'�#�6	 ��$ ��51	 $	 �$ 9�	&�#�43'�#�6

��$+�'�$	 �*4#!�0�!�	 �.	8��� ��	 3��/�'�'��	 0	 �$%!�"�

'-.	/���&$.	 $'$!�%$�	�	'$#��(:��	0��/(	 #	3�/�:6,	���

/�9'�	 �3��&�!(�6	 *�!��	 #��� $	 7!�/�'��0	 ;�<�	�	 '� ����

�-.	#!4"$(.	�%�%$	'�&�#�$��"'�5	 #�!� ��0'�#��	 ���*4��#(

/$# ���0$'��1	 7 #��$ ��(	/� ��7!�/�'��0	�!�	�#3�!6%��

0$'��	 &�4+�.	 /���&�0	 �$%&�!�'�(	 �	  �'��'�����0$'�(�

��#/���(	 '$	8��� ��	 3��/�'�'��	 ���1	 &�	 3�#!�&'�+�

0��/�'�	 #"��$!�#61	 "��	 �'�	'�3��+�&'-	&!(	 �3��&�!�'�(

/�!�*&�'$1	 '�	 # !�''�+�	  	  ���&�'$���	 #	 +������� !��

"�# �/	 $��/�/	 $%��$�	 �$ 	 =���/����"�# ��	 ��$+�'�-

���	�#3�!6%4,�	 &!(	 �3��&�!�'�(	 ��'�01	 #4:�#�04,:�.

!�*�	 0	  $���''-.	 +�&�$����0$''-.	=��/$.1	 !�*�	 0	 0�&�

$��&� �/3!� #�0	 (.!���&'-�	  �/3!� #-	3!$��'�0-.	/��
�$!!�02	3��	&!���!6'�/	'$+��0$'��	�$#�0���0	 0#!�&#�0��

 �'���"�# �5	�'���'�#��	 �#.�&'-.	=��/�	�	 ��'$/�1	  ��

���-�	 #4:�#�04,�	 0	 �$#�0���	 0	=��/�	  $���'�0	 �	 �*!$�

&$,�	0-#� �5	� �#!���!6'�5	#3�#�*'�#�6,	 ;>)>21	?@)A>2<1

0�%/�9'-	'��*�$��/-�	��$ ���	 � �#!�'�(	���	�	3�#!��

&4,:��	  �/3!� #��*�$%�0$'��	 0�##�$'�0!�''-.	 =��/

 $���'�0	 #	 �%*-� �/	����	
�!�*&�'	 )>A2	 '�	 3��'$&!��

9��	 '�	  	 �&'�/4	�%	 7��.	 ��3�0	 ��'�0�	�	 '$#��(:��	 0���

/(	/�9'�	 #"��$�6	 4#�$'�0!�''-/1	 "��	 0	 0�&'-.	 �$#�0��

�$.	 /�!�*&$��0	 '$�*�!��	 0-#� �%$�(&'-/�	  $���'$/�

(0!(,�#(	 � #� $���'-	BCD2
2+
�	E�7��/4	 +�&��!�%	  $����

'�0	/�!�*&�'�!$	BCD2
2+
	 /�9'�	 �$##/$���0$�6	  $ 	 ��36

�$0'�0�#�51	  ����-�	 0	 �$%*$0!�''-.	 �$#�0��$.	 );
�<	=
10–5 


2	 '�	 �#!�9'�'-	 3�!�/���%$���5	 )#.�/$2�	�3��&��

!�'-	0#�	"��-��	 �'#�$'�-	 +�&��!�%$	/�!�*&�'$	 )VI2	 3��
m =	�1�F	��1 G	�1�H	��2 G	�1I�H	��3 G	�1�H	��4 = 3,5 [2].

E�	 7��/	  �'#�$'�$/	 *-!$	 �$##"��$'$	 &�$+�$//$	 �$#�

3��&�!�'�(	 +�&�� #� �/3!� #�0	/�!�*&�'$	 (VI2	 0	 %$0�#��
/�#��	 ��	  �#!��'�#��	 �$#�0��$	 )��#�	 �2�	 J�$	 &�$+�$//$

4&�0!��0�����!6'�	#�+!$#4��#(	#	��%4!6�$�$/�	�3��&�!�'�(
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�*"+,- . , /",-0!"(+0/�/", 1 /�0((#"1 %$& �+ /*#"+(  2-$3 %$&0"�%�(0(,"/"�/ #02�
1"&� �����M	4������10�2- /�4�*0-010#$3 ����105,0#$/0& ."& #���601- +(0#$/0&���2-$3'",�
(7�(/"8$& #06$&1&9)�+ /*#"+(�(�/ #7-&9/�(  ,& 8"&0"/�+ /* &"&, %�:;:;4��/$+(0/'�
/ /� (%", * 6# <"&07� *-0� =:>� &/� 0�/ #7-&9/�+ 5..0?0"&, /�* 6# <"&07� ��@�:>

A
�

�*"+,- . , /",-0!"(+0/�/", 1 /�03'!"&$�+0&",0+$�+ /*#"+(  2-$3 %$&07���9!0(#"&9
+ &(,$&,9�(+ - (,")�� 5&"-607�$+,0%$?00��+ &(,$&,$�'(, )!0% (,0�+ /*#"+($��
$)1"&9
 *,0/$#B&9"�'(# %07�+ &?"&,-0- %$&07�+ /*#"+($�&$�(0# C- /"���:4>;�DE��%-"/7�1 (�
,0F"&07�-$%& %"(07�� (  ,& 8"&0"�/$((�-$(,% -$�0�( -2"&,$��� 5..0?0"&,9�+ &?"&,-0�
- %$&07�&"�&0F"�=G�*-0� 2H"/"�% 1& )�.$39�4>�/#��� #'!"&9�'-$%&"&07�6-$1'0- % !�
&9C� 6-$.0+ %�1#7� *-"1"#"&07�:�@�G�G�/+6�/ #021"&$�%�.$3"� ( -2"&,$�/", 1$/0�(*"+,�
- (+ *00�10..'3& 6 � ,-$F"&07�0�?%", /",-00��
$02 #""�&03+0"�*-"1"#9� 2&$-'F"&07
* #'!"&9�*-0�0(* #B3 %$&00�?%", /",-0!"(+0C�C$-$+,"-0(,0+�

MoO2
2+ + �2��↔ MoO2(���

++ �+ ��1

MoO2(���
+ + �2��↔ MoO2(���2 + �+                                      

(�����2�	�4 + �+)
��2

MoO2(���2+ �2��↔ MoO2(���3
– + �+ (�����2�	�4 ↔           

↔ ��	�4
–+ �+)

��3

MoO2(���3
– + �2��↔ MoO2(���4

2– + �+ (������	�4
– ↔        

↔ �	�4
2–+ �+)

��4

�	.	�	/	$

��#�	 ��	 K�$+�$//$	 �$#3��&�!�'�(	 ��''-.	 =��/	 /�!�*�

&�'$	 )>A2	 0	 %$0�#�/�#��	 ��	 ��	 )m = �1�2	 ;�<F	 �	 M	B��
�
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��	 �%�7!� ���"�# �5	 ��" �	 QA1	 �$0'�5	 )3�	 �$%!�"'-/

&$''-/2F	 �1�H	 �1IH	 �1��	�%	3��0�&�''�5	&�$+�$//-	0�&'�1

"��	 �*!$#�6	 #4:�#�0�0$'�(	  $���'�0	BCD2
2+
	 '$.�&��#(

3��	%'$"�'�(.	��	'�	*�!68�	�1	$	BCD2)��2
+
� �� 3��	%'$"��

'�(.	 ��	 �M��	 �	 �$ �/�	=��/$/�	  $���'�0	 ���	 0%$�/��

&�5#�04,�1	'$.�&(#6	 0	/�!� 4!(�'�5	 )'�5��$!6'�52	=��/�

)�$*!�	�2	[1].
�&'$ �	 &!(	3��0�&�''-.	��$+�'��0	 �*!$#��	 #4:�#�0��

0$'�(	  $���'�0	/�!�*&�'�!$	�	 '�5��$!6'-.	=��/	'�	 #��

03$&$,�1	 "��	 &�!$��	 '�0�%/�9'-/	�*�$%�0$'��	 &04. �/�

3�'�'�'-.	 �/3!� #�0	 [3]. E��	00�&�'��	 ����6�+�	 �/3��
'�'�$	 )'$3��/��1	 +�&�� #�!$/�'$	 )��22	 �*!$#�6	 ��

#4:�#�0�0$'�(	  $���'�0	/�!�*&�'�!$1	 3��0�&�/�/41	 �$#�

8��(��#(	�	�*�$%4,�#(	 �'���"�# �	�'���'-�	 ���. �/3��

'�'�'-�	 �/3!� #-	 [4].
�$/�#��(��!6'-5	�'����#	3��&#�$0!(��	 #��3�'6	� �#!��

'�(	/�!�*&�'$	 &�	  �/3!� #��*�$%�0$'�(	�	 0	 #/�8$'�!��

+$'&'�/	 #��&�'�'���	�$5&�	 �	 ��=/$''	 ;�<	 4#�$'�0�!�1

"��	 #��&�'�'�(1	 3��+���0!�''-�	'$+��0$'��/	/�!�*&$�$

#	 .!���&�/	��1	'�	 #�&��9$�	/�!�*&�'$	'�%8�5	0$!�'�'��

#��1	 $	 �.	 0�##�$'�0���!6'-�	 #0�5#�0$	&�!9'-	*-�6	�*4#�

!�0!�'-	 3��#��&�'�'��/	 ���	�'$!�%	 3� $%$!1	 "��	 #�!�

�/�!�	�*:4,	=��/4!4	 ;)BC2RDO2<;)
��4)9<1	 +&�	 0#�	 $���

/-	/�!�*&�'$	8�#��0$!�'�'-�	��	/�+4�	 *-�6	 0�##�$'��

0���!(/�	/�!�*&�'$	 )>A2	 �	�%4"�''-�	 +������� !�"�# ��

#��&�'�'�(�	E��	 �$%�$*�� �	 �����/����"�# �+�	 /���&$

�3��&�!�'�(	 "�#���-	 $%�#��&�'�'�5	4#�$'�0!�'�	[1]1	 "��
�'�	 (0!(,�#(	 #!$*-/�	 � �#!���!(/�	 �	 0�##�$'$0!�0$�

,�#(	 '��*�$��/�	 &�	 $/�'�0	 ��!6 �	 #�!6'-/�	 0�##�$'��

0���!(/�	 ��3$	 .��/$	 )AA2	 )�°Cr(III)/Cr(II) G	 M�1��	�2	 &$9�	 0

3��#4�#�0��	 ����$��01	 3�'�9$,:�.	 7���	 3���'��$!	 )���

�$'	 )AAA21	 �/�,:�5	�°Ti(IV)/Ti(III)G	 �1��	 �1	 0	 7��/	 #!4"$�

'�3��+�&�'2�	�%4"$!�#6	 0�##�$'�0!�'��	 ��
–4–10–3

	
	 �$�

#�0���0	 /�!�*&�'$	 )>A2	 #	 3�/�:6,	��	 3��	 '$+��0$'��

0	 ��"�'��	 �	 "	 [6]�	E��	��	�1P	3�(0!(��#(	9�!�$(	 � �$# $1

4 $%-0$,:$(	'$	�*�$%�0$'��	/�!�*&�'$	 )>21	3��	��	�	� �

�$# $	*!�&'��9�!�$(1	 $	 3��	 ��	 �	 �$#�0��	 �#�$��#(	 *�#�

�0��'-/1	 ��	 ��	 /�!�*&�'	 )>2	 '�	 �*�$%4��#(�

K!(	 '$3�$0!�''�+�	 #�'��%$	 '$�*�!��	 3�&.�&(:�.	 3�

#0��/	 .�/� ��$'$!���"�# �/	 #0�5#�0$/	 ��+$'�"�# �.

��$+�'��0	 '��*.�&�/�	 0#�#����''��	 �%4"�'��	 0!�('�(

%$/�#����!�5	 '$	  �/3!� #��*�$%�0$'���	�%0�#�'�1	 "��	 0

#!4"$�	  $���'�01	 # !�''-.	  	 �*�$%�0$'�,	 � #���'�01

/�!(�'-�	  �7==����'�-	 3�+!�:�'�(	  �/3!� #�0	 )'�9�

3��0�&�'-	e·10–4)	 #	 ��$+�'�$/�1	 #�&��9$:�/�	 �&�'	 �

*�!��	 �&'���'���0-.	 %$/�#����!�5	 #	 0-#� �/	 %'$"�'��

�/	 3$�$/���$	  4!�'�0# �+�	 �'��+�$!$	 ).!��1	 *��/21	 0�%�

�$#�$,�	 [1]�

�	 #!4"$�	 #	/�!�*&�'�/	 (VI2	 �%4"�'�	  �/3!� #��*�$%��
0$'��	 #	E��	�	�MSTME��U	 [3–4]1	 '�	��#4�#�04,�	&$''-�

3�	 �/3!� #��*�$%�0$'�,	#	�1��&��ST�E��U1	.�/� ��$'$�

!���"�# ��	 #0�5#�0$	  �/3!� #$	/�!�*&�'$	 )VI2	 #	  ����-/
/�+4�	� $%$�6#(	&$9�	!4"8�1	 "�/	#	��ST�E��U�

K�4+�/	3�&.�&�/	  	 4!4"8�'�,	"40#�0���!6'�#��	 �3�

��&�!�'�(	 /�!�*&�'$	 /�9��	 #!49��6	 �$%�$*�� $	 '�0-.

/���&�0�	K!(	��8�'�(	3�#�$0!�''�5	 %$&$"�	'$�*�!��	3���

#3� ��0'�	 �#3�!6%�0$'��	 #3� ���# �3��	 &�==4%'�+�	 ���

�$9�'�(	�	�0���/������

I+(*"-0/"&,$#B&$7�!$(,B

�����

��	 �#.�&'-5	 V1�×10–4
	
	 �$#�0��	 �1��&��ST�

E��U	 +���0�!�	 3� 	 ��"'-/	 '$0�# $/	 ��$+�'��0


��
��� Bi (III) V (V)

���� 3,8 6,0

5-Br-���� 5,8 4,0

3,5-���Br-���� 6,6 5,0

�		$	*		!		�		�		$			�


"+ , -9"�C$-$+,"-0(,0+0�03'!"&&9C�(0(,"/
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��� �������������	����� �	����

���������	�

�	���

����� ����	�����

���������	���	���

4-(2-��������!	)��!	�"��
(��
�

H2R 3,5–5,5  (λ��# = 420 ���

2-(5-$�	��%�&�������!	��'�
��(�������	���	�

5-Br-����

HR 4–10  (λ��#  =  440 ���

2-(3,5-)��*�	��%�
&�������!	��'�

��(�������	���	�

3,5-���+,�����

HR 3,5–10  (λ��#  =  450 ���

N

N N

HO

OH

N

N N

HO

N(C2H5)2Br

N

N N

HO

N(C2H5)2Br

Br
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 0$!�=� $���	 «"�&�$�»1	 �$#�0��	 �$%*$0!(!�	 &�	 /�� �
K
U�	 )«.�"�»2�	 �$#�0��	��	 )��W�52	 +���0�!�	 3�	 ��"'�5

'$0�# �	RO2OH×O?A	 )«"�&�$�»2H	�#.�&'-5	�$#�0��	/�!�*&��
'$	 )�1V	/+X/!2	 +���0�!�	 �$#�0���'��/	 0	 0�&�	 ��"'�5	 '$�

0�# �	 )RO4)6Mo7O24×4H2D	 )«.�"�»2H	 �$#�0��	 �	
	O�Y	 +����

0�!�	�%	=� #$'$!$�	 �$#�0��	 $���$�$	 '$���(	 )�1�	
2	 +����

0�!�	 3�	 ��"'�5	 '$0�# �	 �%	 ?O3COONa×3H2D	 )«.�"�»2�
�#�$!6'-�	�$#�0��-F	�1�	
	O�Y1	 �×10–4

	
	
�	 )>A2	 +���0��

!�	 3�#!�&�0$��!6'-/	 �$%*$0!�'��/	 �#.�&'-.	 �$#�0���0

0�&�5�	�$#�0��-	�1��&��ST�E��U	)V1�×10–5 

21	��	 )��W�521


�	 )>A2	 )�×10–5
	
2	 +���0�!�	�9�&'�0'�	3�#!�&�0$��!6'-/

�$%*$0!�'��/	*�&�#��!!(��/1	 �1��&��ST�E��U	�$%*$0!(!�

K
U��	�	  $"�#�0�	 #��*�'�$	 3��/�'(!�	 #�!�.��/	�����

)=�$ ��(	�1�M�1�	//2�

�  ���
!���	 �3��"�# 4,	 3!��'�#�6	 �%/��(!�	 '$

#3� ���=���/����	�U��P	 )"	 G	 �	 #/2	 �	 =��� �!���/����

�U���	 )"	G	�	 #/21	��	 �'���!���0$!�	#�� !(''-/	7!� ����

&�/	J�Z�����I	 '$	 4'�0��#$!6'�/	 ��'�/���	J��I�1	 '$�

#����''�/	 3�	 #�$'&$��'-/	 *4=��'-/	 �$#�0��$/�	 E��

�%4"�'��	  �'��� �	 �$#�0��-	 ���/�#�$����0$!�	 0	 ���/��

#�$��	«#"$%&'()*»	 )��'+��(2�	 �3� ��-	 �	  �7==����'�-
&�==4%'�+�	 ���$9�'�(1	 $	 �$ 9�	�0���/����"�# ��	 .$�$ �

����#�� �	�%/��(!�	'$	=���7!� ��� �!���/����	«+ ��
&
��
�
»	 )[��"� # ��	��\�2�

,�
������	 �	 +�$&4���0$''-�	 3��*�� �	 �/ �#�6,	 ��

/!	 00�&�!�	 �$#�0��-	/�!�*&�'$)>A21	 ��$+�'�$1	 ��H	 #	 3��

/�:6,	�1�	
	�$#�0���0	O�Y	 �	?O3?DDR]	 #�%&$0$!�	 ��

�1�M�1�1	 �$%*$0!(!�	0�&�5	&�	/�� �1	3���/�8�0$!�1	 %$ �-�

0$!�	 3��* $/�	 �	 '$+��0$!�	 0	  �3(:�5	 0�&('�5	 *$'��

E�#!�	�.!$9&�'�(	�$#�0��-	3��	'��*.�&�/�#��	�$%*$0!(�

!�	 &�	 ��	/!	 0�&�5	�	 3���/�8�0$!�1	  �'���!���0$!�	 ��1

�%/��(!�	 �3��"�# 4,	3!��'�#�61	 00�&�!�	 3�	 �1�	 +	 #����

0��#�04,:�+�	 #��*�'�$1	 3!��'�	 %$ �-0$!�	 3��* $/�	 �

0%*$!�-0$!�	 0�4"'4,	 0	 ��"�'��	 ��	 /�'	 &�	 &�#��9�'�(
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10� 420 530 4,6–5,3 2,9 4·10–7 40 1:1:1 1:5–1:20 1:7000–1:25000 0,12±0,02 2,9±0,1
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440 570 4,6–5,3 3,7 3·10–7 60 1:1:1 1:2–1:10 1:3500–1:10000 0,25±0,03 3,7±0,2

3,5–��2+,–
����10�

450 610 4,0–5,2 3,9 2·10–7 70 1:1:2 1:7–1:20 1:3000–1:14000 0,19±0,01 4,1±0,2
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�� k cMo, M k cHR, M k c0�, M k

 2,2 0,013 5,0·10–6 – 4,1·10–6 0,043 0,009 0,016

3,7 0,041 1,0·10–5 0,044 1,0·10–6 0,048 0,018 0,030

4,3 0,046 1,5·10–5 0,034 2,0·10–5 0,043 0,036 0,036

4,8 0,048 2,0·10–5 0,042 5,1·10–5 0,043 0,070 0,045

5,3 0,045 2,6·10–5 0,049 1,0·10–5 0,040 0,014 0,042

5,6 0,020 – – 2,05·10–5 0,044 0,028 0,036
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������� t,°� T,K k��*�,���
–1 ln k��*� 1/T E���, �)3/�	�� γ

60 333 0,036 –3,32 0,00300

70 343 0,038 –3,27 0,00392

80 353 0,049 –3,02 0,00283

90 363 0,089 –2,42 0,00275

�	-��
-0�

100 373 0,110 –2,30 0,00268

33,6 1,5

60 333 0,0095 –4,66 0,00300

70 343 0,0162 –4,12 0,00292

80 353 0,0237 –3,74 0,00289

90 363 0,0238 –3,56 0,00275

�	�'�+,2
����-0�

100 373 0,0440 –3,13 0,00268

39,8 1,6

62 335 0,0099 –4,62 0,00299

72 345 0,0107 –4,54 0,00290

81 354 0,0128 –4,36 0,00283

92 365 0,0294 –3,52 0,00274

�	-3,5-��2
Br-����-0�

101 374 0,0460 –3,08 0,00267

42,2 1,5
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10� 4,8 11,9 2,90 4,72 –0,08 11,82

5-Br-����10� 5,0 11,8 3,90 5,11 0,11 11,92

3,5-���Br-����10� 4,8 11,3 4,1 3,48 –1,32 10,02
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    lg b = lg Kp¢ – n×pH + pKo-OH1	 +&�	 Yc	Kp = lg Kp¢– n×pH.
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